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BEES = AR mif SERIMOBIE1-1718 17,072 4,015 33 2 39 43
BEES 8 A T EES AfEfoEE 1-1741 27,073 14,951 15 8 51 43
REED A HT PN AtERIMhORIE| 1 -1743 3,799 954 14 2 14 50
4 |BR AR HT KE 2{E&IH O FRiE] 1 -1756 34,514 18,542 49 11 88 41
b |HA SEREr  (BEERN SEFIH O A iE| T -4553 41,069 13,128 52 10 37 52
EES £ ZKHT 12Kid SUERIM D BEIE| 1 -4563 37,645 17,257 7 0 59 43
AR EEX) Hod& BERIMM O ERIE| 1 -70164 6,336 2,207 14 2 16 41
EES BRHE  |YLOde |SMERDORAE| 1 -70166 5,337 724 12 0 16 46
BEES =5 EHT HUdE Z{EflIHh D ERERl 1 -70384 20,600 8,883 0 0 36 36
10 [BA BB RHET BA EiFRlh O gaiE M -7278 15,347 6,835 19 5 43 47
RE:E:N =B RET S SUERIMh O BRI 1-70038 4,052 0 0 0 25 33
12 |dBA RN Hoa5 S tEkiHh D ERIE T -70169 5,220 2,121 6 0 33 38
EREES BAET B EEHlHh D BRIE|M-4216 5,885 2,008 2 0 46 48
14 |E&R 5 A BT EES E{F&Hh D EIIE 4218 6,754 2,955 5 1 30 49
IHEES £ RHET Hods 2 (EfHh o) B 1| M-70330 9,746 4,910 0 0 40 40
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1 |EX RN H it SlEROERIE [ -1718 16,104 4,129 35 5 39 44
2 [EBX £ RET EES B HhD FRiE 1 1741 30,468 16,723 18 7 57 42
RREES = A HT EES SERIHhDEREE[ T -1743 6,312 1,262 13 3 14 47
EES £ ARHT XE SE§HhO R 11756 32,689 19,644 50 14 88 42
5 |BA SEARET RE SR EERHh D ERE| 1 -4553 47,791 15,393 52 10 37 52
AEES 8 AR ET H if & (Eslh ) BAlE| 1 4563 37,827 18,588 12 3 58 42
78R BARE YL OR 2B FAsE| 1 -70164 7,856 2,739 9 2 20 42
REES B A HT Yod& SERHh D HAE| 170166 4,791 1,365 13 0 16 42
NEES &8 AHT EE B RIE T-7278 17,233 7,661 21 6 45 47
10 X & ARHT EX 2 Esih oo Bl T-70038 7,135 0 0 0 28 33
EREES =) 2 (Efho BAlE| T -70169 7877 3,234 3 0 46 37
12 |BA EAE 5= SERHhOHAEE 4216 6,017 2,696 2 0 47 45
13 [EBX BAR $£R 2 (BRI FRiE|M-4218 6,799 2,914 5 1 30 49




